Do Now in Silence: Quick Fire Five
30/11/2017

1) Complete the binary addition, showing your working out:
00111111
  11110010+
__________

2) The answer to Q1 has an overflow error, explain what is meant by the term overflow error:

	


	


	




3) What does the program below do:
procedure(num1)
	if num1 MOD 2 == 0 then
		return True
	else then
		return False
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4) Draw the circuit for P=NOT( (A AND B) OR C )
Please note: The above Boolean statement may also be written as P = ¬ (( A ^ B) ∨ C )






5) Complete the Truth Table for the circuit above:
	A
	B
	C
	P

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	



